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Pa;'t A

Arswer all questions.
Eack question carries™l mark.

-What is process design 7.

'What__ ai'e"jobbing production flows ?

" What is expéditing ?

What is stock control ?

= »5.——What—dp1'you—mea:n—byAproducﬁon—standards — -
What ismst—51us purchasing ? l '

- What is motion study ?
.What is basic time ?

 What is quality ?

What is test marketing ?

"Part B
Answer any eight quest-ions.
Each question carries 2 marks ‘
What is feasibility study ? |
What is ergonomics ?
What is inventory forecasting ?
What is blanket purchas'i_ng ? |
What is_production planning ?

‘What is bateh production ?

Maximum Marks : 80

(10 x 1 = 10)
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" Explain the steps in product line piajming.
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What is maintenance management ? -
What is concel;t development and testing ?
What is preduct innovation ?
What do you mean by the effective utilisation of materials ?
What is inspection ? ‘ '
What is supply chain planning ?-
| 8 x 2=16)
Part C
Answer any six questid;zs
Each question carries 4 marks.
Explam the types: of mtermttﬂnt production system.
Discuss the prerequisites of production planning and control.

Explain the importance of inventory control.

. Discuss the factors influencing plant layout.

Bring out the reasons for breaking down the job to elefments.

Discuss the advantages and disadvantages of product innovation.

" Explain the importance of materials management. .

Mention the objectives of qua_lity control. v .
' (6 x 4 =24)

Part D

Answer any twg questwns
E’ach question carries 15 marks.

Discuss the characteristics of production planning and contrel. Why is it important ?

Explain the. objectives and functions of inventory control ?
Bring out the types of plant layout

Describe the problems faced by productlon managers ? .
. (2 x 16 = 30)
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